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IS50 JIS THRBEA | £0.0025| 50 40 18 5 10.12
IS75 JIST#RBEA | £0.0028 | 75 50 18 5 10.18
IS100 | JIS1#kBEA | £0.0030 | 100 | 70 25 6 10.25
IS150 | JIS1#kBEA | £0.0035| 150 | 100 | 30 8 105
IS200 | yiS1#kBEA | £0.0040 | 200 | 130 | 35 | 10 | 1.0

- JIS B7526 3RAEHIES. [S250 JISTH#RBEA | £0.0045] 250 | 165 | 40 | 15 [ 2.0
 EEEEARETAEATEETY, 1S300 JISTHRBEA [ £0.0050 | 300 | 200 | 40 15 | 25

IS500 | JIST#&BEA | £0.0070| 500 [ 300 | 55 | 20 | 7.0
IS600 | JIS1#kEEA | £0.0080| 600 | 350 | 60 | 23 [10.0
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ASH0 | JIST#gEA | £0.0025] 50 40 15 | 12 | 0.25
AS75 | JIS1#REEA | £0.0028 | 75 50 20 | 12 | 0.30
AS100 | JIS1#RkEEA | £0.0030| 100 | 70 23 | 15 10.45
AS150 | JIST#RBEA | =£0.0035| 150 | 100 | 25 | 15 | 0.80
AS200 | JIS1#kEEA | £0.0040] 200 | 130 | 32 | 15 | 1.40
AS250 | JIST#ERBEA | £0.0045| 250 | 150 | 35 | 20 | 3.00
AS300 | JIS1#kEEA | £0.0050| 300 | 200 | 35 | 20 | 3.80
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